Office of the Divisional Forest Officer, Shimla Forest Division (Urban),Shimla Himachal Pradesh.



2 0177-2629915 (O) E-mail: dfou-shi-hp@gov.in

H. P. FOREST DEPARTMENT, MIST CHAMBER, KHALLINI SHIMLA-171001

No. FCA/2024-025/ 2759

Dated Shimla-171002, the. // - 03-2025

To:

Executive Engineer, Road & Building Deptt. Municipal Corporation Shimla H.P.

Sub:

Diversion of 0.0112 ha. of Forest land in favour of Commissioner Municipal Corporation Shimla-2 for the c/o Ambulance road from Fire Brigade road for the building in Daizy Bank Estate Lower Jakhu Shimla Ward No-16 KM 0/0 To 0/45.

Sir,

Please refer to Integrated Regional Office, Ministry of Environment, Forest and Climate Change, CGO, Complex, Shivalik Khand Longwood Shimla H.P. office file No. FC/HPB/06/152/2022 dated 15-02-2025 addressed to ACS (Forests) to the GoHP (copy enclosed) on the subject cited above.

2. As per in-principle approval (stage-I) conveyed by the Integrated Regional Office vide above quoted reference please arrange to deposit the Cost of compensatory afforestation, Net Present value, SMCP, Departmental Charges & cost of trees according to enclosed bills under heads/ accounts mentioned below:

Sr. No	Particulars	Amount.	Appropriate authority.			
1.	Revised CA (copy enclosed).	58739/-	The Compensatory Afforestation, NPV & SMCP bills are only Generated through online portal and it is			
2	Revised NPV (copy	15371/-	mandatory to deposit only through online portal.			
3	cncloscd). Cost of SMCP @0.5% (copy enclosed).	7500/-				
	(copy enclosed).	81610				
3.	Departmental Charges	10279/-	Under Miscellaneous Head 0406 Sub-Head 18, Forest Remittance Revenue of DFO Shimla Urban. Code- 968.			
4.	Cost of cutting trees (copy enclosed)	552133/-	Under Miscellaneous Head 0406 Sub-Head 15, Receipt from sale of trees to other Department /Organization Forest Remittance Revenue of DFO Shimla Urban, Code-968.			
	Total	562412/-				

Challan is generated online for Compensatory Afforestation and NPV, and then the levies are to be deposited through online portal. In addition to above compliance of stipulations recorded by the C.F. Central should also be submitted to this office.

It may also be ensured that no work will be executed at the proposed site until the final approval of the competent authority is obtained and conveyed to you. It is also pertinent to mention that stipulation No. 2 (iii) to be followed in letter a sprit in the in principle approval.

This in-principle approval is subject to the final outcome w.r.t. Hon'ble Supreme Court Orders in the CWP (C) No. 1164/2023 dated 03-02-2025.

Encl. As above:

(Pawari Kumar Chauhan) HPFS, Divisional Forest Officer, Shimla (Urban) Forest Division, Shimla-2.

and the project	010		Re	vised Chec	k Line N.	- 19						
Full title of the project	0/45.	bulance road fro	om Fire Bri	ade road for	the building	In Daizy B	ank Estate Low	er Ja	khu S	himla Ward	No-16 KM	0/0 To
File No.	C/O Ambulance road from Fire Brigade road for the building in Daizy Bank Estate Lower Jakhu Shimla Ward No-16 KM 0/0 To 0/45. FP/MP/RC AD/74345/2020											
Name of District	Shimla	Shimla										
Name of Division	Chopal	Chopal										
Name of Range	Nerwa	Nerwa										
Name of Block Khaddar												
Name of Beat	Dhalewa	n a										
Name of Forest	Kahu, UP	PF										
Total No. of trees planted	100		7									
Area proposed for CA	0.20											
Rate per Plant	22.00											
ear	Area in (ha)	Unit cost at wage structure per ha. for the year 2024- 25	Amount	No. of Plants Planted in 1 ha.	Fotal No. of Plants Planted (2x5)	Total amount of Plants	Total amount {Unit cost + Plant Cost	Year exeru work	tion of	Cost escalation	cust	Total amount (4+7))
1	2	3	4	5			(4+7)}		9	10		12
urvey, Demarction, Jencing &				3	6	//	8		9	10	11	12
lanting	0.20	109300	21860	1100	220	4840	26700	2014	4-25	10%	2670	29370
st Year Maintenance	0.20	12100	2420	330	66	1452	3872	201	5-26	20%	774	4646
^{ad} Year Maintenance	0.20	8200	1640	220	44	968	2608	201	6-27	30%	782	
^a Year Maintenance	0.20	4200	840	110				201		40%		
^h Year Maintenance	0.20	420 0	840					201		50%		
^a Year Maintenance	0.20	4200	840					201		60%		
Year Maintenance	0.20	4200	840					201		70%		
Year Maintenance	0.20	420 0	840					20		80%	-	
Year Maintenance	0.20	4200	840						2-33	90%		
Year Maintenance	0.20	4200							3-34	100%	•	
^m Year Maintenan se	0.20	4200	840	110	22	2 48	4 132	+ 203	4-35	Total	0 1430	5594

Total	55942
Contingence 5%	2797
Total CA	58739
Departmental Charges 17.5%	10279
G. Total	69018

(Pawan Kumar Chauhan) HPFS, Divisional Forest Office Shi mla Urban Forest Division, Shinla-2. 2

Full Title of Full Title of the Project -: C/O Ambulance road from Fire Brigade road for the building in Daizy Bank Estate Lower Jakhu Shimla Ward No-16 KM 0/0 To 0/45.

File No.:

Date of Submission: -

05-12-2020.

FP/HP/ROAD/74345/2020

Revised Bill of Net present value

In consonance of the order dated 23-03-2008 of Hon'ble Supreme Court of india in writ petition (Civil) No. 2020 of 1995, the Net Present Value of the forest land for the diversion of 0.0112 ha for the construction C/O Ambulance road from Fire Brigade road for the building in Daizy Bank Estate Lower Jakhu Shimla Ward No-16 KM 0/0 To 0/45.in favour of Executive Engineer Road & Building M.C. Shimla, Distt. Shimla HP.

Eco-Value Class	Forest		Area involved in the proposal	Total Amount	
VI	Dense Forest	1372410/-	0.0112	15371/-	

Note: - In case of increase in the rate of NPV in future the same will be recoverable from the User Agency.

Divisional Forest Officer. Shimla (Urban) Forest Division, Shimla. Shima -

Full Title of Full Title of the Project - C/O Ambulance road from Fire Brigade road for the building in Daizy Bank Estate Lower Jakhu Shimla Ward No-16 KM 0/0 To 0/45.

File No.:

FP/HP/ROAD/74345/2020

Date of Submission: -

05-12-2020.

Bill of (SMCP)

CALCULATION OF THE SOIL AND MOISTURE CONSERVATION PLAN (SMCP) OF THE FOREST LAND BEING DIVERTED FOR THE CONSTRUCTION OF ROAD FOR THE BUILDING IN DAIZY BANK ESTATE LOWER JAKHU SHIMLA.

In compliance of the GoI letter No. FC/HPB/06/11/2022 dated 09-09-2022 the SMCP is calculated as under

Total cost of project

=1500000/-

Total cost of SMCP@ 0.5% =7500/-

Note: - In case of increase in the rate of (SMCP) in future the same will be recoverable from the User Agency.

Divisional Forest Officer, Shimla (Urban) Forest Division, imla. (Ision (U.C.an) 10 Shim 1-2